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1. In a single throw of a die, the probability of getting a multiple of 3 is
@A) 12 | BVY1/3
) /6 D) 2/3

@(h LseL_eil 6 apep el Qurps oL @b eea 3 6 wLksTs @uuspstar Hewpssa

wimg!?
A 12 | | (B) 1/3
€ 16 (D) 2/3
2. ﬁe product of two consecutive numbers is 4032. Find the numbers
(A) 61,62 (B) 64,65
(W 63,64 | D) 6243

Qrar® O55058 cranaatlen QumEse 4032 el DS 6T HDET 616w,

(A) 61,62 & B 6465
(C) - 63,64 (D) 62,63
3. Two equal sums of nioney were lent at simple interest at 11% p.a. for 31years and 4 years

respectively. If the di{':fe'rence in interests for two periods was ¥ 412,50, then each sum is
(A) ¥ 3,250 (B) % 3,600
oW’ 5,500, (D) % 4,250

om Q@nms samnghe 11% gaflouly aldlgsdle 3 1/2 %ﬁ@ﬁ@é@ QarhEsiulLg. 68
sjane) Asrams 2Cs saflaii g HssHd 4 % ETHHEFSEL CSTRSSUILLLF. sefileu i safler
efgHwrad T 412.50 erafled arBésunLL (grms eramig)

A)  em. 3,250 (B) em. 3,500

(C) 3,750 (D) . 4,250

B s 3 DJGS/19
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4. Calculate the mode of the following data.
Size ofshows: | 4 | 5 | 6 | 7| 8 | 9 |10
No. of papers: [ 15| 17 | 13|21 | 18| 16| 11
Ay 9 B) 8
™7 ®) 5
Spsanan b Yarafl aﬁmggﬁm@ Wa&[H sras.
smoenflsaiien oereyser : 4 |56 |78/ 9410
eflpm Gemg seflen eramenilsens : | 15 | 17 |13 21|18 [ 16 | 11
@4 9 B) 8
© 7 D) 5
5. “Find the approximate length of the longest pole.that ean be put in a room 10 m x 8 m x 5 m.
(A)  15.25m ' (B)\/13.75 m
(C) 14.35m - (D) 12,55 m
10 8 x 8 8 x 5 8 wyameycer 20 <2{gpulled mm&&uu@m Olg ﬁenmrran Caredlen am@unm@;
(Comrmuions)
(A) 15.25 8 (B) 13.758
(C) 14.358 (D) 125558
6. “In a wéll shuffled pack of 52 cards, a card is drawn at random, find the probablllty of
diaménd oz kind eard
(A_Mclfl?) B) 5/13
(C) ~ 6/13 D) 9/13
DG smds @aussliulL 52 & Hsdr Gstam® LG sligemba pram b wapudd Gm &G
T RESLLGADS). 15 LWL Sjeevg) pregm &L s Q&S BEnssey
(A) 413 (B) 5/13
©) 613 D) 913
DJGS/19 | \ B
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7. January 1, 2009 was é'Thursday. What daj-z of the week lies on Jan 1, 20107
(A) Thursday (B) Wednesday
(CW” Friday (D) Saturday

2009-b sperr () gemaufl 1-b Codl eflwmpsdipamio. eraled 2010:&;%&1'“@ saneuifl 1-1b Gg,,;f,l Gramen

Slipenton?
@A) eSwmper : B ysen
(C)  Qeusrefl _ (D) el
8. A bag contains one rupee, 50-pains and 25 paise coins in the ratio 5:6:7: I.f the total amount
is ¥ 390, find the number of coins of each kind
(A) 200, 280, 240 (B) 240, 200, 280
(W 200, 240, 280 (D) 280, 240, 200

@ ouwle @ mumi, 50 eust LHmIL 25 ougT pravumised wanGu 5:6:7 aamp HHgsHd
2 _arena, SiBs euwle) Crggnd 390 muml @)@HST, eublaimm Bramupd aThg aramanlsanasule

BBSEWL? _ o

(A) 200, 280, 240 @B) 240, 200, 280
‘ r

(C) 200, 240, 280 _ (D) 280, 240, 200

9. If a® +b% =117 and ab==564, then find the value of @b
a-—
w '
N , g ® 2
. - _ 5
C 7 D —
©) / R4 _ (D) 13

a’® +b% =117 wpyb ab=>54 eeafld a_q-.E; ~ain 1Ly sreE

@ 5 ' i
11
© 7 ®
B i | 5 -' ) DJGS/19
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10.

A man riding a bicycle, completes one. lap. of a circular field along is circumference at the
speed of 14.4 km/h in 1 mt 28 sec. What is the area of the field? :
(A) 7958 sq.m. (8%856 sq.m.
(C) 8842 sq.m. : (D) none of the above
@ weflgan enssdlafler aul L nraedrer G sms &;b@j&]g)rréh, 36U 6o Geusid 14.4 &l adl/ wenfl Cpiid.
Sleuer eT(H&g &GlgmerEend Cryn 1 Hlblib 28 Gmmg wWmeTmed iges LrLiL| rarshaﬁmeq?
(A) 79588 (B) 9856 &
(C) 8842 5 D) @ gsboma
11. A speed of 54 km/hr is the same as
(A) 13.5 m/sec. | (B)_/lﬁ m/sec.
(C) 21 m/sec. (D) 27 m/sec.
54 8.8/ Ceusiomeng) Sipéaein_cumm e crai@e #ob?
&)  13.58/6A Y B 158/e
(C) 218/ (D) 27 8/e8
12. A constable is 114 m behind a thief. The constable runs 21 m and the thief 15-m in a
minute. In whattime will the constable catch the thief? |
(A 16min, - (B 17min.
(©) 18 min. ‘ (D)\/lg min. .
@R sreueit, glmLenen el 114 15 Gemeanmed o erermi. sreuci HBILsHnE 21 8 CeussSaib, e
15 8 CeusgHapd @Lq.émwsb, areuei ereualara) Crysdled &mLamen’s AigiumT? . e
A) 16 AL g8 | ®) 17 HOLsHe
(C) 18l gdev . D) 19 Bl e
DJGS/19 ' 6 _ B
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13. Name the Indian representative, who attended the International Socialist conference held
in G_érmany in 1907 '

(A)  Anne Besant . (B)/Madam Cama
(C)  Ajit Singh (D) Gopal Singh

1907-1b gyar(), Agyiwafluder peoL Aubn sieuCss Comagsalls smESTRED sabg Clarar GpEw

QSliblgl wini? _ _
(A) el Quae’ ' (B) CuoLb sror
(©C) <onsfu (D) Carume fm

14.  Who established th.e Indian Home Rule society in London in 1905?
(A) V.D. Savarkar | (B) Bhupendra Nath Datta
(CW” Shyamji Krishnavarma . (D) V.V.S. Aiyarp

1905-1b y,er(h e _ailed GFmLraglurL @nSwu Capmbd FHe SjentoLiL warymed- QSrhisru’ L g?

(A) &g seunEsmT (B) [ UBuBST B B5HT

(C)  Swumbg) Smegeneuion ) (D) e 6l erey T
15. Vivekananda founded the Ramakrishna mission in —

AV’ 1898 A.D. Y (®B) 1897 AD.

(C) 1858 A.D. . (D) 1859A.D.

" NGeusranhsiT, Qo (Hagem LDL_g,mg Qam_mdlw e eTg? -
(A) £.9.1898 B) 4£.9.1897
(C) £49.1858 (D) &.9.1859

16. _The pupulaf greeting word ‘Jai Hind’ was introduced by whom?
(A)’Subash Chandra Bose : (B) Mahatma Gandhi
(C) Vivekanandha (D) Arbindo Ghosh

‘Qegus @B eranm UTPSSI (P85S IDI(PaILESSHWelT wmi?
A)  suney sndy Gumey (B) wsargom srhi
(©) aﬁ]@gwarrsuf'r_'r;gl‘r D) =rdns Corey
B 7 - DJGS/19
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17. Which one of the following rivers is shortest in length?
(A) Chambal : BVDamodar

. (C) The son (D) Kaveri

£g'gasentr|_surj)g1|eﬁ Blasflhlw ym Grsj?
(A)  sbud® : (B)  snGorsi
(C)  aan : (D) srallf

- 18. Match the following :

Theories Propounded .by
(a) Geographical cycle 1s Walter Penk
(b) Geomorphic cycle 2. W.M. Davis
(¢) Peneplaination cycle 3. Crimkey
~(d) Pedeplaination cycle 4. L.C. King
(a) ®  © (d)
(AN 1 3 4
B 1 2 3 4
© 3 1 4 2
(D) 4 1 =2 3
ﬁshm@sum'au;bmg) Quimm 558 :
Gopoiisar 4 - Aerésaymyser
(@) yeluflwed spmél 1 umasT GlLens
(b)  yelliypelluieh spié 2 W.M. Gefav
() AushGancresr spmél 3.  d&fbd
(d)  GugSanearer sHpmHs 4. L.C. &
@ ® © @ | ‘
A 22 1 3 4
B 1 2 3 4
) 3 1 4 . 2
D 4 1 2 3
DJGS/19 B 8 “ B
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19. Match the List I and List II and choose the correct code given below :

(a)
(b)
(©)
(d)

(a
AN

(B)
(©
(D)

List I
Fort of La_hore

The Jami Mosque

Red fort

Akbaf’s Tomb

2
4
3

) (b)

1
4
3
2

(c)

N

bo

o

(d)

3
3
"
4

List IT
Au.rangazeb
Akbar
Jahangir
Shajhahan

uigwied e e uliguen IT g Qurmssl sflwirean eflent_sow Spsg@r _cupner Combo s &8l 6T(19s)s.

(a)
(b)
(c)
(d)

(A)
)
©)
()

utigwe I

TaaT CHTL_anL_

gL @GS

QarmCaml_anL_

<isuflern #oTdl

(a) (b).

2
2
4
3

e o B

=k = e

e B e

Lt tgwied 1T
A TEISSL)
&l%ur’r
g_a_;_r)rr.réuﬁfr '
-l

20. Wh@ was the founder of Aligarh movement?

@
(©)

2ellanT Quisssans Blmeilwieur wimi?

(A)
©

B

Badruddin Tyabji
Mirza Ghulam

Lgemlerm Sluimig)

WOITET @@

Study Material

(B) . Sir Sayyid Ahmad Brahivi
(OWGir Sayyid Ahmad khan

(B) & enswg =iswg Graed

(D) &1 enswg &G Sires

9 | DJGS/19
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Who became the Chief Minister of Madras Presidency of 19207

21.
(A)JA. Subbarayan Reddiar (B) T.M. Nair
(C)  P.Theagaraja Chetti b (D) C. Natesan
1920-b e[ deanener wrble (pgoewisrTs ugell eudldgeu wn?
(A) & stiugmue Qg wir (B) g.erid. Brwam
(©) Q. Hunsymg Qe gwimi (D) C. pCLsan
22 The President of India appointed two more 'Election Commissioners to the Election
Commission of India for the first time in the year ' '
(A) 1989 (B) 1990
(C) 1993 (D) 1994
Budu Caiiger yoamusdhe mBsors Quad ChHisd mammuTaTismer G5 Urss smaeui
Wsenpsedld Buillss o6 :
An"1989 (B) 1990
(C) 1993 ' : (D) 1994
23.  Article 148 of the Jndian Constitution deals with
(A)  Advocaté General of the State '
(B) AttorneyfGeneral
(C)«.Comptr'oller_ and Auditor General of India
(D). ‘Special Officer for Minorities
Qpwrerflumamony el 148 eileurdiiug
A)  wvrfleo silaGs’ Qgarye
B) s Lmiel Qgene
©€)  s@amw safides wHpb s EUUTL G e
(D)  Apurenenwulenpasrear #]g)ﬁu.; SiQIGUIT
DJGS/19 -10 B
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24.

25.

26.

B

Article 243 C of the con_stitution of India deals with the
(A) gram sabha : (B) reservation of seats

(C)“composition of ?anchayat (D) duration of panchayat

Apdw srflueenifear 243 C 618 aellynsgieus)
(A)  &lygmo seou S B) @L&&ER uhHdl
(C)  uEpeTLSES SO (D) uEpsTWSH LFGNESTOLD

Which is the first Municipal Corporation in India?
(A)  Delhi (B) Calcutta
(C) Bombay ; ' D) adras

Gidwredler pged HETTL S 61g)?
(A)  QLée B) _sasl Ly
(C) umbGu . : @), GClwrgrev

Which of the committee has both representation-from Lok Sabha and Rajya Sabha

1. Estimate committee

2. Committee on sub6rdindteélegislation

3. - Public accounts committee

4. Committee’on public undertakings _

(A) 1,2 3,4 (B)/L 2,3
© 1,34 D)y 1,3

' uwn@m@mgf_ﬁeﬁ SpsenLl HMID G senL 2 m nGeniraeT _eTeT LIMymEhLoGnD @@éaései'r wreneu?

1. wdUl (é G
2. giea s Bupmise Cuileorer G

-3, Qug 616G S &0

4. Quimg gienm G

A) - 1,2 3wpyb 4 (B) 1,2 wHmb3

© 1,3womb4 ' (D) 1 womb 3

11 - DJGS/19

[Turn over

Study Material Job notification . visit https://thepharmapedia.com/



Previous Year Question Paper GPAT Drug Inspector Pharmacist DCO visit https:// thepharmapedia..com/

27.  Which one of the following pair is not matched properly?
(A)/National commission for backward _clasé - 1994
(B) National commission for women - 1992
(C) National Human Rights commission FA. 1993
(D)  National commission for minoritiels | - 1993
‘%gpaaﬁu]ﬁl_augjgﬂ]eu eTenal Fflwuns Gun@lﬁjé,aﬁi@mm?
A) . dpuBss uL(BI_-rr@eisa;rrm Cadlw %@mmmm - 1994
, (B). waefTamear Codlw oy emenruib | - 1992
(C) Csflw wailg 2 MNenio peemTiiD : - 1993
D) Amurerenwufeanmasren Cafli oy amentid — 4995 .
28. Mangroove plants meet high osmotic pressure in the soil, they overcome the proinlem of
water uptake by |
(A)waccumulation of electrolytes imthe vaeuole of the cell
(B)  increase in the rootsand shoot ratio
(C)  reduce the respiration rate
(D)  reduce the transpiration rate
LOMEI GO SIEUTal ST (DetTenflieen HSSLILIGUITET aV0TGE Si(Pdssens adli Qaradenpen. i
2 Hiepasena &fCFLIW meusar. | |
A Gra)ésl'_@crrrsmml'_@asemﬁ Qgerellen 334;_3')@1 Qoup Bl rusefles @Gessdammen
(B) (},"ésu_r'r wHnib e Afssms odsfadamner
(C)  aoune sjemeney @Hapmadlemen
(D) Brrefld Gunsdlen wjaraneu @enméSlearman
DJGS/ 19 . 12 | B
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29.

30.

B

Study Material

- (d)

Match the following and select the correct answer :

The ﬁr_st vice chairman of the NITI Aayog was
(B) Mr

OV

(A) . Mr. Bimal Jalan

(C) "MxrY.V. Reddy
HlE 2, Cuingdler 1psHed Hlenanrd Senaeuit
A) Mr

(©)

(B)
(D)

Mr. Sweéd geoman

Mr. Y. V. Qg Mr

13

Job notification

(a) Egg - 1. Brown revolution
(b) Fertilizer 2 Golden revolution
() Honey | 3.  Silver revolution
(d) Leather 4.  Grey revolution
(a) (b) () (d)
‘(A)‘/B 4 1
B 1 3 4 2
© 4 2 1 3
D) 2 1 3 4
Enaumeuanaipenpls QurmsH sflwrar eflenanw Corey Qo :
(a) @plen 1. uepuyd ygld
(b) eqb 2. Qumer Lyl
(©) Gaar 3. Geuerafll ygiiél
Caméd 4. smhuGLICE
() (b) (c) (d)
A 3 4 2 1.
@B 1 3 4 2
©C 4 2 1 3
D) 2 1 3 4

. Rajiv Kumar

. Arvind Panagariya

. PTESeu (GLomT

. 2ipellBs Lemmasmiluim

DJGS/19
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31. According to the report of the Government of Tamilnadu, the state is occupied the

— place in the National gross domestic product per capita in 2015-16.
(A) 10t ‘ @V 11
(C) 13tk ' (D) 12t

2015-16 sulps <pdlen olsemsiiig, Bog wrHlon Csslw erallonar gor Wwidghe arHm(H

2 Hugdulled - @ILib eudlsdlmg.
(4)  10cug. ' : (B) 1leug
(C) 136ug . ' (D) 12eus
32. The ————————— impose tax on profession.
(A) Central Government (B}“/State Government

(C) Both State and Central Government (D) Nationa]ised banks

Qgmfle eufl NG
(A)  pHeueT Sirs (B) Lnrrgﬁ)éu TG
(©)  wsHwu wHMID Wbl 2iTs (D) Cgilwwvwwrssiiul L eukd

33. Central Leather Reseér_ch Institute is located in —
(A) AKaragikudi - (B) Vellore
(@) - Mysore (DP/Chermai

waSLl Comed prmiss] Blmeuand oennbsg)erer GL b

A srenrsEly T (B) Geuguri
©C) aweET (D) Qosmenan
DJGS/19 ' 14 B
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34.

35.

36.

B

Which country in World’s first driver less bus service began for a short distance using Radar

technology and motion sensors?

(A)\/ France (B) India
(C) China (D) Bangladesh

> wfle) eTpg BT Wsar psors @U BT Goorod Cumbs Qués Crumt wpnb GCorager
Qeenen Qamfep L 2 seilL 6 Gonbs E115SHE BuéssLBADS?
(A)  Qgmemen ' ‘ B) @psHwun

(C)  eveann (D) u@&mn@g,a'%

Which city is having biggest cricket stadium in India?
(&) ' Chénnai (BW Ahui8dabad
(C) Hyderabad (D) /Indore

| @Qpdurede ahs parsHe Quilu erefame Sflsts Gy uib e@wuLEubDETaTg?

(A)  Qserenen (B) =iswgrurs
©) eansdyruns . D)  @pani

Which state has passed a resolution to transfer 17 sub-castes in other backward castes

(OBC’s) into Scheduled Castes (SC) category?
(A) Maharastra (B) West Bengal
(C)%Jttar Pradesh (D) Bihar

@pdwrede eps wrbasda 17 elgworear 2L Gfley srdlsmer OBC Gflefler @@mha SC \ileflipe
wrHoib Qawg) wGsrst HlapGeuppli L g?

(A)  waenrrTegigFm | (B) Cupe eunismerd

(C) 248y 95Cas (D) - Ssmiv

15 | DJGS/19
[Turn over
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37.  Who has been awarded Dr. APJ Abdul Kalam Award for meritorious services in the Higher
education department of Tamil Nadu?

(A) L.Narasimman
(BJ P. Shanmugam

(C) S. Suresh Kumar
(D)  Chandrakala Mishra

LrsLit AP cojligidvsand efma 0 Brih oirdlear o wirsdel gleansans Spsa e fsaflidwnmss
GULPRISLILIL L §)7?

(A)  L.ppélbwen

(B) P.sawapsid

(€©) S.sCres @Lomir

(D) _ g Hlrseon legym

38. The president of International Bank for Reconstruction and De"v-?élopment (IBRD) is
(A)  Mariya Gabriel
(B) Banki Moon
(C)  Boyko Borissov .
(DVJ im Yong Kim

wm&FrentoliL] Hmib eueTisflGsiar SieuCss curtid (IBRD) Wér HENEUGUIT
@A) wiur smofub

B)  umer & eper

©  umiGsn GAfPsnoy”

D) Hi wi S,

39. The Rohingya are the minorities of ’
(A) " Bofith Africa (B)\/Myanmar
(C) “Canada (D) Butan

@Unm_rfﬂréju_lrrésaad‘r. GTHBTLlg.cr &y uramanioufesit

(A)  dsne pufler (B)  dBwremort

(C) sewm D) yrmer
DJGS/19 16 p
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" 40.

GST is implemented on which date onwards?
(AN”01.7.2017 (B)
(C)  02.07.2017 (D)
GST wywaéEe auns Casl erg)?
(A)  01.7.2017 (B)
(C) 02.07.2017 D)
41. The first university in India started in the year
(A) 1856
(C) 1858 D)
@idureiian 1pse LSS SRS Himieuiu L
(A) 1856 '
(C) 1858
42.  Which is the first smoke 111 India?
(A) Hariyana
(B)«Chandlgarh
(C) Ranchi
(D)
Ii} &1 (P& Lansulae @ BsLb 618)?
(A) Muwimresm
(B) sawmgar
© g
D) Hpsr
B 17
Study Material Job notification

(B)‘/1857 -

30.6.2017

03.07.2017

30.6.2017
03.07.2017

1859

DJGS/19
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Oxygen molecule is 16 times as heavy as a hydrogen molecule. The temperature of oxygen

43.
when its average speed is equal to that of hydrogen at 30 K is
(A) 300K | BNU80 K -
(C) 120K ' D) 100K
QFallga (pasaman @ @aplrRe apessmmnmel Gure 16 wLmE sawrag. 30 K
GesiuBlereniier emaplrgaflan syrafl Coisseans Guran Gessms QuD <y EedlnasHE) ereiaara
Geuiublene Geuapr(Hib
(A) 300 Qaaveller (B) 480 Qseelen
(C) 120 Qsecvelanr (D) 100 Qadeflen
44.  Select the effect which is related to supercpnductivity from' the following
(A) _See back effect .
(B) dJoule-Thomson effect
(C)  Stark effect
(D](Meissner effect
Sipsaramuapner BsLgsCur(H Agriiye i elamarmes Caib0sH
A) #Qus elenarey
(B) gro-grbaar cldere,
(C)  Stark eflenémey
D) Quwevent eleneral
45.  Theammolecular formula of Chromite ore is
@), FeO.Cro, (B) FeS0,.Cr,(S0,),
(Cn FeO. Cr,0, (D) Cr,0,
&Grranl grgieller Couudlwied eumiiiim®
(A) FeO.CrO, (B) FeS0,.Cr,(S0O,),
©) FeO.Cr,0, (D) Cr,0,
DJGS/19 _ 18 - B
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46.  Which organelle is absent in human sperm
(A)  Nucleus (B) Centriole
(C)/Endoplasmic reticulum (D) Mitochondria

maﬂgeﬁlsﬁ aflhg Qeaeiier Gavers G Hieam 2 miuiL| er5i?

(A)  2lsm (B) QeanfIGuine
(C)  erenGLr Yemmseuene (D) el GLmamemlwm
47. ————— do not take part in mitotic division
(A)«Hetero chromatin ’ (B) Euchromatin
(C) Nucleosome (D) Lampbrush chfémosome

A}

el Lrélen Qe GMgadler Lkig Qumeudlaeme
(A)  QamiiyCrr GCrmGiom_ig et (B) . wisCruCLomtiig e
(©) HusefiCurGemd - (D) Cabuyen @CrmCGurCeamd

 48. Which of the following continents is a region of great biodiversity?
(A) North America (B%outh America
(C) India J (D) New Zealand

EC Qar@asuurL prHseflc Ve Quilu serelemar 2 ullflers LFeilé 2 6TeT SETL_LD 6517
A) e o0uflssr | B) Qser @uwiésT |
© @ndur _ (D) BuwevGevetor

49. ~ Howhmany number of viruses are known to cause Hepatitis?
_ (A)j; B) 8
C) T D) 6

DEHEGT EMUIFEME) GTSSEET GUENSWITEN GHEUTEVEET 2 e &G Slenmen?
A 9 ® 8
© 7 | (D) 6

B , .19 ' DJGS/19
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What will be the amount a man would get, if he invests ¥ 10,000 at 9% per annum simple

50.
interest for 3 years? _
(A) 12,500 (B) 11,800
(cyn/ 12,700 ' (D) 12,000
eeur T 10,000 m ey 9% seaflau iy aﬁg,g,ﬁw ApSIm T (HSEREEG WEsSH Cedgme
DUHES SlenL_&@D Cnss Qgrens ereuaene?
(A) 12,500 . (B) 11,800
(C) 12,700 (D) 12,000

ol. Four different electronic devices make a beep after every 30 minuges, 1 hour, 1+ hours and
1 hour 45 minutes respectively. All the devices beeped together at 12 noon. They will again
beep together at. _ .
(A) 12 mid night ' (B) 34m
(C) 6am (Jy 9 a.m
Bre@ GeueGaum) L&mm@ 2_LIGITERTRISET @D, cp6dl @ent Qeuaflser wpepGur 30 Hiflmser,
Lwenfl 15 wenfl opmd 1 wenfl 45 Hlud_mfsen, oimer oi@anssib parused 12 weawnfléa aenlaarnhg)
edl erplnGanmed, (&g a1l pal examlepentb gl gpadl eT(LpLiL|h
A »0 Grey 12 wenfl B)  ap.u. 3 waf
©) .. 6wl : D)  @p.u. 9 wewd

52. Weekly income ofitwo peFsons are in the ratio of 7:3 and their weekly expenses are in the
ratio of 5:2. If eael of fhem saves ¥ 300 per week, then the weekly income of the first person
18
(A) 7,500 (B) T 4,500
M% 6,300 - D) - 5,400
Quan® BUTsSEH®OLWL ety eumorand 7:3 erarm alldlgsSland, eury Gewelend 52  eram
eildlsgdaib o dratar. Seuisar GmaimGL eumpb amumi 300 GCoaflsdlenment erenmrdd (pse ;5urﬂeo1
GUITT GU(THLOTENTLD 6TELEUEITEY| ?
(A) Z 7,500 (B) % 4,500
(C) 6,300 ' (D) % 5,400

DJGS/19 20 B
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53. The ratio of two numbers is 3:4 and their H.C.F is 4. Find their L.C.M.
A) 12 B) 16

(C) 24 “ W 48

| @ etor () sraimaen 3:4 arenp eflfssHL sewpgerarar. euper B.Qure. 4 erafld eumdlen

B.@um.o e ' "
@ 12 . ®) 16 “\‘(b

C) 24 (D) 48

54. The value of e

' J10+J;+&18+J154+% is I

(A4 ' : B)
© 8 RARY | 1

\/10+\/25+‘\/108+ 154+ V225 r.;uT

A) (B) 6
(®)] 10

55. 5 men can comp a ork in 52 days in how many days, 13 men finish the same work?
A) ®B) 26
20 - | D) 30

5 L&t gm Couamaenw 52 pFn'_e;aﬂq'J APIgLILITT&ET 6Teniled 2Ah Coueaenws 13 gy saT arggemen -

Brisafled qpigliur?
Aa) 52 ®) 26
(© 20 | ™ 30
B | : 21 . DJIGS/19
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56.  Find the value of (1000)’ +10*
(A) 10,000 | . (B)'/Looo
(C) 100 D) 10

(1000)° +10* —éin w1 sreTa
(A) 10,000 (B) 1,000
() 100 M) 10

57. A man sells two wrist watches at ¥ 594 each. On one he gains 10%.and en the other he loses
10%. Find his gain or loss percent. On the whole

(A)  12% loss (B{l% loss
(C) 1% profit ' - D) 12% pmﬁt

@ massqsTIRISET @elbeimamanubd 594 mmumbisE @meut elnnmr. Qecurm aAppda el
10% eruapb, wpndld 10% Bl apb, SeuEsE gnUlL g Crsssdld eumss gnulL. oD
2IDOF BLL 56550 SE HTERTa,LD. _

A)  12%pliwn B) 1%plrbd
(€ 1% erub . (D) 12% emuib

58. The sum of the present ages of a father and his son is 60 years. Six years ago, father’s age
was five times therage of the son. After 6 years, what is the son’s age?

A) 12 vears 7 (B) 14 years
(C) 18 years (DY?.O years '

| shas bHnID wsaler sHCuTmsw awwgsala a@gd 60 eumLmsT. 6 UHLRSEHEESE P6L,
shenguier auwg wsaier awmsls Gurd 5 i kig aafld 6 aum_ha@ssEU 9neE weallan uwg)

GraTan?
A) 12 it e B ldamuiser
(C) 18 aymLruser D) . 20 sumLruser
DJGS/19 : 22 . B
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59. Complete the following :
PURSTQV,O*
A PQ B) LP
© WM . OWVR M

Eipssent_euhenp Hlanpey Cews.
P? U? R? S) TJ Q’ VJ O, —_— ——

A P,Q @) LP
(C) W, M o XM

60. At what time between 7 and 8 will the hands of a clock be in the samé straight line, but not

together?
(A) 5 minutes past 7 (B) E-igi minutes past 7
(©) 51—31 minutes past. 7 - (D__(Ei% minutes past 7

S1q.ETTESD 7—&3@5 8-5@h @oLudd sy smsdar pladr aigman wafluld agli agCr &Cr

CrirGam_iged ﬁﬁ)@Lb?

@) 7 paps 5 HOREB B Tomubs 5% B i
<3 ;o B -

(C)  7wpryba 5ﬁ LT N D) 7 aprybs 5E BILSlL_miger

61. If 75% of @ number is added to 75, then the result is the number itself. Find the number
(A) . 50 B) 60
(0{300 : (D) 400

(1 erenmentien 75% o L e 75-1 &L@Lb@urr@ <ICg eram flen_&flms crafled b eTeTEnEnTS HTEUT.
(A 50 (B) 60
(C) 300 (D) 400

B | : 23 DJGS/19
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62, How many terms are there in the G.P. 3, 6,12, 24, 384,

aM 3 ®) 9

(C) 10 D) 11

3, 6, 12, 24,.... 384 arenp WLm&@s Agrifd ersgeamen 2 mliLser o dremer?
A 8 B) 9
©) 10 : M 11

63. Name the Act which ended the rule of British East India Company in Indla
(AMThe Indlan Councils Act of 1858
(B)  The Indian Councils Act of 1861
(C)  The Indian Councils Act of 1892
(D)  The Minto-Morley Reforms of 1909

@pdlurele, Sipsdlhdlug sbQuafiuden %L@mu;l.@q?;eﬁﬂ)@ Qamem () eubs FLL LD 6rg?
(&) “1858- syein® @S seydrdio My

(B)  1861-1b yer(h @b sayerdle s b

(C)  1892-1b e @)l 56 @ & L_ib

(D) 1909-1b yam@ B@MCL T baied &idmsss s LD

64. In Maharastra, V.D. Savarkar had ofganised the and as secret
~ societies in 1904,
(A)/“Mang and Ramoni (B) Arya samaj and Prarthana samaj
(G)/Mitra mela and Abinab Bharat - (D) Young lotus and white lotus
1904-b yewr(®, 6.l FeUTESTT, WSETITEYGTHED WwHmID &
@g,rn__@aﬂu_l @lrert(h F&Fw el l_ga;mﬂs'ﬁ QUWITEEET 6T(Lp)&.
(A)  wrm wpmb Aymored : (B) =il swrmibd wHmID KyTissem &mngfﬁ
(C)  WOsrCuert Hmd Slesieu LITys (D)  @embd smeny LHHIW Qeudreners e
DJGS/19 24 . §
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65. Which one of the following is the longest National Highway of India?
(A) NH5 (@) NH6
(CN NH 7 (D) NHS

WQemeupuereunmieT @pdHuneda Berwmear Caslw G HEpsTene erg)?

(4 NHS5 - (B) NH6
(C) NHT7 (D) NHS
66. Which one of the following statement is not correct?
. I. Rajasthan is the largest state of India in area /
1L Madhya Pradesh is the second largest state in India in area |

III. Maharashtra is the third largest state in India in area
IV. Karnataka is the fourth largest state in India in area
@ I @) I

© I | - VIV

Epaain_eupmier Feupran saHn) eTE)?

L~ @hdurelle uptiuerelier g iU ude WaslGuflu wrblewn pregeusimer

IL  wsdw GrCsed @pén_meug) Weuufu wrbleon GbSwurellsr Lyiuerede
1.  wsaryresy.rb epépieug BlsOElLfw wrBlan Ghglwreler Lrluearelld

IV.  siprisr prenaeus BlaslGuflu orbleon @pdlureia uriuereaia

A I (B) 1II
(©) III _ (D) IV

67.  Which is the 1argest rivers of South Indla"
(A)«E;odavau - (B) Mahanadi
(C) Narmada (D) Tapti

Ggen @bl wimeslen Bl QU S 6TE?
A) Gargreufl (B)  warbldl
(C) ‘mﬁmmg,' D)  sud
B 25 _ DJGS/19
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68. Cirque is, closely associated with
AN Glacier | (B) Wind
(C) River ; (D) Groundwater
a1d ergCGart(h GasTLTyenLwg)
(A) Uentlwimmy (B): srhmy
© = . D)  Pagsi i
69. The Atherva veda is related with .
(A) Yajnas | (B) Poojas
(CVDemons and spirits (D) Worship of gods
SigTeuent Ceugd 1Yemealmelaralhmer ereayL e Qs e wg ?
(A)  wrsRiser B) yerg @pamgjaiﬁr
(C)  ysb wpmib Cuws yeflser (D) &L cener cuemtii@d (LPenDEET
70. . The earliest evidence of man in India isifound in
(A)  Nilgiris . _ (B) Siwalik hills
(C) Nallamala hills - (D)’Narmada valley
- ppengi sre waflise @hbssnHeTen Fremmn (SLwib) @bAwnele ermi@areng?
(A) ﬁeuéﬂrﬂ : B) SHeunedls wenevser
(C) poewrr @S (D) pibeas LaTOTSETE®S,
71. Who was .the author of “Yoga Darsana”?
(A) » Gautam Rishi (B) Kannada Rishi
(C) “Badarayana ' (DWatanjali
“Cuirs gilsand” arerm prene e Afwir wmi? .
(A)  Gaeargw fafl (B) senenir Mafl
(C)  usymwmenT _ - (D)  usepsed
DJGS/19 | 26 _ | B
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72.  Who was the founder of Atmiya sabha?

(A) - Ishwar Chandra Vidayasagar
(C) _ M.G. Ranade

< p&OW sumeneu Himiewieu T wmr?

(A)  meveur sy ellSwiTETST

(C) ernb.gg. prenGL

(Bf/Raj a Ram Mohan Roy
(D) Devendranath Tagore

(B) @uorgr gmb Gorges pmw

@) CpCaupdlypns srem

73.  Match the List I and List IT and select the correct answer by using the/codes :

(a)
(b)
(e
(d

(A)

(B)
(€)

ON3

List I

Vernacular Press Act of 1878
Indian Universities Act of 1904
Indian Councils Act of 1909
Rowlatt Act of 1919

(@ (b) @ . @

1 4 3 2
2 3 1 4
3 2 1 4

2 4 L

1
2
3.
4

List II

Lord Chelmsford
Lord Curzon
Lord Lytton
Lord Minto

L iquied I -6 2 ararans, wiuguied LI-e0 goter QurmsSl sflwiner eflenLenws Caimb0s(H&&aD.

(a)
(b)
(©
(d)

A)
3B)
(©)
)

B

Study Material

L iguie I

smuQuml LsSHNsme e b 1878
@pAL LdsEREHS s 1904
L\ bHus Spd g 1b 1909

Qrerert_ gL b 1918

() (b) (©) (d)

QO W b
[ SR N R
W e = D
i—i-}ﬂkt\ﬂ
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74. Administrative tribunals deals with
(A)\/Article 323 A (B) Article 232 A
(C)  Article 132 _ (D) Arﬁcle 356
fifeurs Sriumub erbs edbuflsn oig Lt uld e meurssiul L g
(A)  efldl 323 A (B) &4 232 A
€ 98 132 D) <94 356
75.  Which one of the following is not correct with regards to salary
(A)/Governor_ - Consolidated fund of India
(B) President - Consolidated fund ¢f India
(C)y CAG - Consolidated fund.of India
(D)  Supreme Court judges. - Consolidated fund.of India
5@5@ QarH&ssuul (Heretencusafied 6T seumyt &b ey &Lhull_'r)g,mrfeﬁ
&) syepi ' ¥ @idu Gsreiy A
B) Gyurs st - @pdw Asrgiy Hlduib
(©)  sawse wHy b gamfléans geneeur - @ifw danguy Hldwb I
D) o5 s Blubsdr - @bsu AsrEiy A
76. In thedndiaFederalism, with residuary powers are with |
Ay State Glovernme nts ' (BVCentral Government
(C)* »Both central and state Government (D) Local Government
@BHw el Lm Huld, ergpdlw :_%Qasrn;rrrhasmmg SEMEUFLD 06U (HLILIZI?
(A) wrle oremhsd B) wsHL spsTRISD
(C) wsslw— wrdle o Farmsn _ (D) o emenm_ & Iém;r&rrréja,l_h
DJGS/19 ' 28 _ B
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T

78.

79,

p

The term ‘gu-illotine’ means that the speaker
(A),/stops the business on hand and puts the matter to vote
(B)  adjourns the house before expiry of the time .
(C) disallows voting on a motion -y

D) reprimands a member for misbehaviour

‘fleve_ig e eremenitd Gamebellel SifSHD ; FUMBTLISGT

A) LoD SQeudSmET WPigalEE Carah ebg, @ngs@a@u@ﬁ)@ eSO Elmmi
B) &L §AFTLIT (1Pplge &S eUHEUSDES (e, FarLienil @58 eneusSlpmT

(C)  Siorend QerarBelmeusH@ <igund LYLLSH |

(D) paupnan pLsepa e g

In India the first Municipal Corporation was set-up in which one’among the following?
(A)  Kolkatta | BN Chennal
(C) Mumbai - (D). Delhi

Qbdurelld (pse (psans erhiiE wrpaTT S Qaremheuriul Lg?
(A) Gsrvsssm : (B) Qeenener
(©)  qperu % (D) Qicvadl

The megtings of state public accounlts committee are assisted by the
(A)  Comptroller.and Auditor General of India
(B) ~ Speaker of Législative Assembly

(C)/_ Accountant General

(DS All of the above

mhle QLTS sarésTiieas G sl LD sl L Wryme 2 geuliL @eﬂg}gj’?
(A) QB saussT HNID Sewtl&Eams Fenmn Geneaeuir

(B) wrfle s L gmu surpmwst

(C) s@aw sarsst

(D) GG 2_der imansgid

29 | DJGS/19
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80. | The new symbol of Indian rupee is blend of i
(A) Latin and Greek : (B)ﬁ)evanagiri Ra and Roman
(C)  Rajasthani and Samaskrita Bharati (D) Hindu Arabic

@pslw epumuller LS e wirars @Hlui@ Qumd Qumiléaiiu L ser euruferad
Hlen_gsm@LD. ; '
(&) Pesdar womib ECr&eED ; (B) Cgeuandlf gr LD;i)@lLb Grmwesr

©) @rrgevsraf wHmib swevdlms Lmrs (D) @nhg - 2CrAs

81. Match the years given in Column A with the Naﬁonaiisation_of seetorsiinColumn B :
Column A Column B
(a) 1969 1.  Nationalisation of whalesale wheat trade
(b) 1980 2. Nationalisation of 14 (;om_mercial banks
(c) 1949 3. Nationalisation'of RBI
(d 1973 4.  Nationalisation of 6 commercial banks
: ‘/3) (b) (c) (d)
AY 2 4 3 1
B) 2 4 1 3,
© 1 3 4 2
D 1 2 A N
Yemmeumeuanaunhenmill QUIMHS5S ¢
By A ' Blyeo B
(a) 1969 1.  Qungs Cargleamns Dararpse Hm HiLenn
(b) 4980 2, 14 cuewfls Gi.lraja‘ilaacéﬁ BT (HLenn
(c)y” 1949 3.  ymig sirsLenw
4. 6 cuenfls curudlaar ipaLenn

(d)», 1973

@& ®» © @

@A) 2 4 3 1
®B 2 4 1 3
©. 1 3 4 2
D) 1 2 4 3
DJGS/19 | 30 B
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82.  Match the ff)llm,ving :

Period Total Population (crore)
(a) 1971 -1981 1. 84.4
(b) 1981-1991 2. 685
(¢ 1991-2001 3. 1210
(d) 2001-2011 4 102.9
N CY) (b) (c) (d)
A 1 4 & 2
(B)¥" 2 1 4 3
<) 4 3 2 1
@) 3 4 1 2
Gemeumeuenaupennls QUTHSSHS :
STaLD | ' @mn§,§, a6 Qgrang (Camiy)
(@) 1971 — 1981 1. 844
(b) 1981 -1991 2 68.5
(¢) 1991 -2001 3. © 1210
(d) 2001-2011 4 102.9.
(a) (b) (c) (d)
@A) 1 4 3 2. €
B 2 1 4 %
(C) 4 3 2 ] .7
®» 3 4 1 2
83. How many cities in.Tamilnadu have been short-listed for the second-stage of smart cities
mission?
@, 4 2 (B) 10
O N - OV 12

aen wrPf pelar By BusssEDeTE QrETLTD HUL Sl SO PHTLig.goiemar g)ésljréja;a'T G@gmm
Gaitey Qewwiu’_(Hemenes?

@ 4 “(B) 10

(R | D) 12

B 31 DJGS/19
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As per the cleanliness Audit released by the Government on August 13 2018, which railway

84.
station bagged the top spot in 20187 &
(A)  Visakhapatnam (B)‘é)dhpﬁr
(&) Tirﬁpati : (D) Howrah
SiTETRESFTD psavl 13 2018 wenm QeeALLul L ssssdlhamar oyuiedemigy crp;z @Uuﬂ?m
Blenawih s BL s 2018-6 ﬂqgg@’?
(A)  eflersuligend ' K By Cgrsyr
€  dmuugd 5 e (D)  ameygrm
85. Which state is the first cyber police station in India?
(A) Tamilnadu (B)/Maharashtré
(C)  Odisha ' (D), Bihér
Qpdlureie erhs wrblagdld e (pswTs el sreud Hlepeowib Qgmrisli L g)?
A) shpsrH (B)  wsrrragigyr
©C) efler _ - ; (D) Sair
86.  What is the time duration of the song National Anthem?
(A)  50sefonds (B) 51 seconds
(CM 52 seconds (D) 53 seconds
Casélw Ez10 unl_aSlaﬁf G ereuaieTey?
(A) 50 eflanmigsar . (B) 51 eflarmgsen
(C) 52 efemrigser (D) 53 eflenmig seir
DJGS/19 ' 32 B
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B7.

88.

89.

How many Member countries are in ASEAN? .
A) - 8 . (BM" 10
©€)y 12 ' D) 14

Asandlnse flu prhsaflar srmasdle (ASEAN) erésener priadr o mliSenisarms o drerem?
@A 8 (B) 10
© 12 " D) 14

The largest atomic Research centre of India

(A)  Variable energy cyclotron centre

(B}  Centre for Advanced technology

(C)  Indira Gandhi centre for Atomic Research
(D)«Bhabha atomic research centre

@pdureier BlauQuilu <ign <prmiss enowid
Q)  wromsHner eevsCam e enoudih |

(B)  Guibur L Qsmidm LsSnsten mibuud

(O @pdr s iam Sy isSe ot

(D)  urur si@n syfruss ewwib

India's first full fledged sport university will be set up in the state

&) Harydna (B}/ Manipal
(CY Kerala (D) Punjab
@ndlwireSlen W  pse  elmemun Rsnar  LOSDOSHPSD wrHlegdle
DMDSSLILIL 2 _6Teng)?
(A)  enflwmrent (B) warflume
(C) Gayenr . _ (D)  weEpema -
33 - DJGS/19
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90. Who is the first women vice chancellor for sports University in Tamil Nadu
(A)  Sheela Nair |
(BN Sheela Stephen
(C) Vijayalakshmi
(D)  None of these

SODBT g6 2 L paeell wpmib eflameanun’ () udsmosspssdler (pga Oue sienear GeubsiT wimi?
(A)  ofeor pru

(B)  eSer evieLien

(€C)  eflswels

D) Geupdle ggidlaeama

91. India's largest public Wi-Fi service has been launched recéntly in which Indian State?
(A) Karnataka - (B) _ Hafyana
(C) New Delhi (DM Mahérashtra

@pdwureler erps wrfleogdle w&s6T uLusiTum;Lq.ména; Wi-fi cusdl ofls gnrjg,‘é,lrj)asrrm'(ﬁmm _

Ggm_rmsiul (Herarg? o
(A  siprLsT T (B) anflwirerm
©) ysigead _ (D)  wsmyresgyT

92. Whose birthday anniversary is celebrated as the International Day of Non-Violence?
(A) Nelson Mandela
(B) Abraham Lincoln
(C)ﬂdahatma Gandhi
(D) Martin Luther King

Shsemlauigafles.  wrmeorw  Gpps  preer  sieuGss  Selpeurg by Hemwors
Qamrawmiu®dpg ? '

(A)  Gmeaeen wamGLeom

(B) yulrsrd dmsar

(C)  warswTETHS

(D)  wrigen s Sk

- DJGS/19 34 p
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93.  Which city in India has launched a mobile application for women's safety while travelling in

train? _
(A)/ Mumbai ' (B) Chennai
(C) Kolkata ' (D) Bangalore

@rdurefler eihs pETEHD (Wsar (pswrs qulldlen Lweaflagn GCurg duarsafiarn urrg;aaﬁt‘.mmu 2
Qe Qwranuied eilefiCaager siflapsliuBSsLuL L&)

A goeu (B) Qecnanar

©) - swssgm w H D) QurssEsm

9. The neutrino has
(A) Negative ché\rge and half spin _
(B)‘/Zero charge and half spin ‘ )
©) Positive charge and integer spin

(D) Zero charge and integer spin

B ACarm QuodmULIS

(A)  adli fleargmn L b wHnID ST SHELDHE
B) & LIS]G"GT@]HL'_I_L;D LHDID DT FDELPDE
©  Cpit BennLib opoibitpe Bpsipids
(D) a@i. Lﬁié&r@rri.i_].ﬁ Lofo@l.b WP BHELEHE

95. If the voltage gain of an amplifier without feedback is 20 and with negative voltage
feedback it 1§12, then the feed back fraction is

' A 5/3 | - B) 3/5
©) . 1/5 (DW033

Lﬁéﬂ@m;t_l.ﬁlsbs\m em QumsHler Waran(pss QumEs eran 20 adi Wargr L CErhi&siurL
Wlerr g Wenanipss QumEs era 12 erafled Wengnr L Genar ey srars

(A) 573 : | (B) 3/5

© 15 D) 0.033

. 35 - DJGS/19
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96. Match the followwg List I with List IT and choose the correct answer using the codes given

Constituent of plastocyanin

Enzyme activator for photalysis

Necessary for translocation.of sugars
. Essential for the biosynthesis of IAA

| &Gy Qsr@ssuul_Rerer uliqwea I 2 ren uligud IT g Qun@g,g,;& @@ﬁ@&ﬁﬂ@ﬂ@p@ sflwmes

GarmanGmewiaflen 2oL GlLimm e

gafllillens gedlen Q;ﬁnﬁ Cawuau(eusnE

- gidaemy @LTCLwrelnE @eanflweamwwuirss)

IAA Sl Ceiidmasa wpsdwiomears

below :
LlSt I List 1T
(a) Chloride s
(b) Zinc 2,
(¢c) Copper % 3
(d) Boron 4.
(a) (b) (e (d)
(AV 4 3 1
~ (BM 2 4 1 3
- ) 4 2 .3 1
(D) 4 3 2 1
eflaLemws Cainpas 6
Ul iguiev I Ul igwed IT
(a) ECameay@m 1.
(b) g 2.
(©) smaur 3.
(d) Cumrpren 4.
@ ® . © @
A 2 4 3 1
® 2 1 14 3
C) 4 2 3 1
. D 4 3 p. b
97. The resolving pgwer of normal eye is
AV 100 4 (B)
(C).650 u D)
srgnyent beafls seranflen LESnen é‘raiﬂug,j :
@ 100 4 | ®)
(C) 650 u D)
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98. What is the normal pH of human blood?

A 1 (B). 7.6

W 7.4 D) 6.8

wefls Grsssdar pH gl wrg?

(A) 7 B) 7.6
) 74 ' (D) 6.8

99. Non-volatile covalent nitride, AIN undergoes hydrolysis to give
(A) Aluminimum

(B)  Aluminimum hydride
{_CM:\mmonia and aluminum hydroxide

(D)  Aluminium and a mmonia

crafdléy peluirsms saL 1 QenenriiL| eppLenyLmen AIN, By HuE N e Hs) QaTHLug
(A)  sgflaiub

(B) egiaiub ean @i

(C) Curaflum whHmib ey WSleRwilh ‘enamt réense (b

D)  i@blaflwub whHmb o GLometiwr

100. ~Which of the followdhig réacts with phenol and produced bakelite?
(A) (CH,0H), (B) CH,CHO
()W HCHO | (D) CH,COCH,

Q6o (meuamalimici eraaei Lemme) Gafbg GLisemet 2 maurdlng)?
(A) “MCH,0H), (B) CH,CHO

(C) ‘HCHO (D) CH,COCH,
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Read the following instructions carefully before you begin to answer the questions.

10.

11.
12.

13.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 100 questions. Prior to attempting( to answer, the candidates are
requested to check whether all the questions are there in series and engdire there are no blank pages in
the question booklet. In case any defect in the Question Paperis notieed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the eommencement of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks. _

You must write your Register Number in the space providedson the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responSes, (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheets In case you feel that there are more than one correct
response, mark the response whieh vou eonsider the best. In any case, choose ONLY ONE response for
each question. Your total marks willldepend on the number of correct responses marked by you in the
Answer Sheet. _ .

In the Answer Sheeb there are four circles @), (®), (©) and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer

~ Sheet. If you marK more than one answer for one question, the answer will be treated as wrong. e.g. If

for any item, ® is'the korrect answer, you have to mark as follows :

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this QuestionyBooklet and the Answer Sheet out of the Examination Hall during the time of
examination.” After the examination is concluded, vou must hand over yvour Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.
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